
3

6

5

4

2

1

2

4

7

9

8

Konstruktionsbohrlehre KBL 400

Item Number Quantity Part Number Part Name

1 1 BBKBL401 Spannhebelschraube M8

2 3 BBKBL402 U-Scheibe 8.4 x 25 x 2.0

3 1 BBKBL403 Winkelschiene

4 3 BBKBL404 Zylinderschraube M8 x 20

5 1 BBKBL405 U-Scheibe 8.4 x 20 x 2.0

6 1 BBKBL406 Anschlagblech

7 2 BBKBL407 Bohrbüchsenhalter

8 1 BBKBL408 Mutter M8

9 2 BBKBL409 Zylinderschraube M8 x 30


	Ersatzteilliste KBL 400.pdf

